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(2) _ IX MATHS
The chord of length 30cm is drawn at the distance of 8cm from the cenire
of the circle. Find the radius of the circle.

24) Define Circumcircle. :
In which quadrant does the following points lie? a) (-1,-3) b) (3, 8)

. 25)
26) Find the distance between the pair of points (1,2) and (4,3)
If 2cosg=4+/3 then find the value of sec 6.
[or}

23)

27)
28) Verify: Sin?60°+Co0s%60°=1
Find the roots of the polynomial equations:- 10x+9=0

Part - 1lI
_ 10x5=50

nl-Answer any 10 questions. Q.No. 42 is compulsory:-
29) Verify (AUB) = ANB’ using Venn diagrams ’
30) In zschool, all students play either Hockey or Cricket or both 300 play Hockey,
250 play cricket and 110 play both games. Find
i) the number of students who play only Hockey
i) the number of students who play only Cricket
iii) the total-number of students in the -school.
31) Simplify using addition and substraction properties of surds. 5340 + 23625 — 33320
32) Find the value of a and b if J7-2 _ ay7 +b
2} Solve by cross-mumplfcatron method 6x+7y—11=0 and 5x+2y=13
34) Factorise using Synthetic Division. x*-5x2—2x+24
35) The angles of a. quadrilateral are in the ratio 2:4:5:7. Find all the angles.
36) Find the length of a chord which is at a distance of 2/11cm from the centre
of a circle of radius 12cm.
Show that the points A(4, -3). B(3,1), C(3,6), D(4,2) taken in the order form the

vertices of a para!lelogram
Find the points which dlwde the line segment joining A( -11,4) and B(S, 8) into

four egual parts:
Find the centroid of the triangle whose vertices are. (-5, -5), (1,-4) and (-4, —2)

- = {an452 Sec 60° _5sin90° ;
40) Find the value of o0 o Cotas’  2Gos 0P _ & e

2 : 2
Cos 47° Sin72° 2
41) Find the value of: (Sin43°) +(Cos18°) = 2SR o
: 25
Find the six trignometric ratios of the 2 7“\
angle 8 using.the given diagram. [or] A 9 B
The sum of the two digits of a given two digit number is 5. If the - digits are
reversed, the new number is redused by 27. Find the glven number.
Part - IV

2%x8=16

V. Answer the following questions:-
43) Construct the centroid APQR whose sides are PQ=8cm; QR=6cm: RP=7¢cm. for}

Draw a triangle ABC, where AB=8cm, BC=6cm and «B=70° and !OCate |ts

circumcentre and draw the circumcircle.
44) Draw the graph of y=3x-1.

Solve graphically: x+y=7; x-y=3. ,
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